@ 5™ year Ordinary Level Maths

Area and Volume Class Test
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Find the volume of a cylinder of radius 6 mm and height 20 mm.
Give your answer in two forms. as follows:

(i) in terms of m. and

(ii) correct to two decimal places.
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Q. 2

A solid rectangular block measures
60 mm ~ 35 mm > 20 mm.

Cylindrical holes of radius 6 mm are drilled.
20 mm

one at a time, through the block. in the
direction shown.

After how many holes will more than half of
the original block have been removed?
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Q. 3

The area of a rectangular playing pitch is 9900 m?.
The width of the playing pitch is 90 m.
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(i) Find the length of the playing pitch.
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(il) Find the pel‘lllleteIC}t 1e playing pitch.
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Q.4

(i)  The volume of a sphere is 367 cm’.
Find the radius of the sphere.
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(ii) When the sphere is fully immersed in a cylinder of water. G(_-/f”

the level of the water rises by 2:25 cm.

Find the radius of the cylinder.
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Q.5

In order to estimate the area of the irregular shape shown below, a horizontal line was drawn
across the widest part of the shape and five offsets (perpendicular lines) were drawn at equal
intervals along this line.

T N~

35 u5 60 Qo \-\o‘

20—

\

(i)  Find the lengths of the horizontal line and the offsets, taking each grid unit as 5 mm,
and record the lengths on the diagram.

(ii)  Use the trapezoidal rule to estimate the area of the shape.
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